Name: Date: Period:
5.1 Review WS (2)

GIVEN: FEI IS A PERPENDICULAR BISECTOR OF LN . LN IS AN ANGLE BISECTOR OF £ ILNZ . DZ =5.
FIND THE MEASURE OF EACH ANGLE OF SIDE LENGTH BELOW:

L. IN =

o

X DEN =

3. £DEZ =

B, X LEI =

6. L DZF=

USE THE DIAGRAM TO THE RIGHT TO ANSWER 7 - 9. f

7. Given that M7 is the perpendicular bisector of AH
and MH =7.5. Find MA.

F 3
v

-

8. Given that M7 is the perpendicular bisector of AH ,
MA=2x-8 and MH =3x-17, find MH .

9. Given that MA=41.1, AT =15.5, and MH =41.1, find AH .

USE THE DIAGRAM TO THE RIGHT TO ANSWER 10 - 12,

10. Given that m« RSO =m£TSO and 7O =1.7, find RO. R

11. Given that mx RSO =36°, RO=24,and 70 =24, find m« RST .

12. Given that RO =TQ, mx OSR =(2a—26)°, and mx OST =(8a—44)°, Q
find m£ OST .



